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And I would say, to include — TP7aY WY TwRn 99 nank KRB
the night of the fifteenth for the removal of the ynn

OVERVIEW

The X713 asks how can you be certain that 1n°2wn NWXAT 01°2 X, is written in order
to teach us the y»nn MoK on 7", perhaps it is written to teach us the y»n MOX on 2°7
1" (the first [Seder] night of noo). Without 10°2awn we may have thought that the
Y7 Mo°X begins on the day of the fifteenth as it is written 31 2°%2° nyaw. Our N1BOIN
offers an alternate answer to this question, and will also challenge the s'®773 actual
answer.

L 4
Moo comments; the XN -
— 11mv: IUNTI 29N 02 MNIVY 8N "N
Could have answered; ‘we cannot assume that 7WX1;7 21°2 IR comes to include 777
1" because the o5 writes 212 which precludes night’, as the X 3 shortly

answers concerning a similar question.”

NN has an additional comment on the s'®nx actual answer:
— NN NIPIND NINY NNAVH YWPNINRT %YM 133 999

And also, once the X723 answers that eliminating 98w is compared to eating

Y%m and therefore there can never have been any thought that y»nni is 2nm on 1"t 2% (so no

[extra] P09 is necessary to teach us this M10°X) -
— N81Y XD 9INVY D NYaY 10197 XIPY TP98 XY

It was not necessary for »aX to cite the 102 of X325 XY 2IR® 29%° NYaw to prove

that v is 7" 212 MK (since it conflicts with NWXIT 212 X [or it makes it redundant]) -
— 2951 Y111y 9199 NN NDIAND NINY NNAVH YPNINTNIT

For we can derive it all (that y»n is 7" 01°2 M0X) from the fact that 9WRw nnaw:?

was likened to y»n n®"R (without utilizing the P10 of o°»® nyaw) -
*19Y (*999937) Y095 139 YWNTY 1N

! X,7. The X there asks perhaps WwR7iT 012 X teaches us (not only that v is 7oK [partially] on 7" 21, but rather)
that it is OR (even) on 7"> 2°2. The X3 responds that this cannot be, for the P109 states 1Ww&27 012 which means day
and not night. Similarly, the X773 here could have given the same answer.

% See (@ra 7"7 X,7 97) yI9 1221 nooN and the Y"wann (here) who answer this question. [Basically that it is more
difficult to assume that 1WRA7 212 comes to include 7" 9°%, than it comes to include 1"v 979.]

? See “Thinking it over’.

* There is a discussion among the commentaries whether the word “>"937' should be omitted.

> (10102) R,7. There, 3"7>7 explains since P21 X therefore PMWXIT 0172 IR cannot be referring to 1"'v (that it is partially
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Just as ("5"9377) "o ' explains it later.’

SUMMARY

TWRIT 01°2 X cannot teach us that 1"t 9°7 is 70K since the word 21°2 is used.

There is no need to cite 12 0% NYaw, since we can derive Y21 70X on 7" from the
w1 of 1% N9PORY PAn NPOOKRY Pan N9°OKR? MIRW NNawsT.

THINKING IT OVER

MooIn claims that there is no need for the 7105 of °»° NYaWw, since we have the wp*n
191.” However, the wp*1 of MRW NNaws to ynn n°X is from the P09 of 0% nyaw
"31. How can mooin argue that this 7109 is superfluous?!®

ann) for MRW nnaws is effective (yan 19238 70°K nyw3, which is the 11 of 7%7 N%7OR, which is) on 1"v 9°5. Therefore
WX 212 X must refer to 7.

% If we assume the first interpretation of the previous 22121 7"7 Mo that 212 Tx is redundant, then o°»° NYaw is not
necessary, because we can know the redundancy based on the wp*11 (the wp 1 teaches us that 1w nnaw: begins 777
1), and if we assume the second explanation of moIn (and that »ax was aware of Por1 X) then the 7%°% of »aX is
precisely the Tm°% of (°2°2a7) °"9; without the 0> nvaw.

7 See footnote # 3.

¥ See (TX7) X"w1mn and the "9y,
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